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Miharika Jha 4 bows agc
z

Homework answer: 2 persons

Thank you for the session sir

i oF REFLY =

Mohit.. 1 day ago 1 subscribars

Thank-you Sir for this Very Amazing Class Session.. 4 . =

And

dy Answer for today's Homewaork is-
W{Z3) - W(2324) - UWZ2) - TO10) - 5{3).
Read more

iy oA REFLY =

* 1 REPLY

Atigya Gang 1 day ago 2 subscricers
Awesome Ses5ion sirji -]
HW ans is : option 1 (2)

STl W<

g | Qe 2 _ 23

Read maore

4 1 LA REPLY -

= 1 REPLY

Swurbhi Sinha 1 day ago
V=235 W24/23,. U=22 . T=10.,5=5 th

ay &F  REPLY =
* 1 REPLY

nk you sir awesome and helpful sir

fii




Keka Maiti 1 day ago (=dited)
AMNSWER (Dption 1 -2)
WoOWw U T 5

25 2423 2210 5

i &P mePly B
+ 1 REPLY

Poonam Bhatia 5 hours ags

Gud evng sir..... Yesterday homework ans is,,, V23
& % mry B

+ 1 REPLY

Mitika Gupta 1 day ago

Homewark

Dption a 2 persan

W2 W24,5Z23) W 22) T(1D) 5(35)
ar &F  REPLY =

+ 1 REPLY

Meha Singh 47 mirut=s ago

Homework ans. Option 15t

iy GF  REPLY =

Ku Anita Rav 1 day ago 1:u
Home work Ans-

W25

W24/23

=y
| ——

Read mora
iy P  REPLY =
* 1REPLY

LWL UZZ_ T10, 55..... Thanks g & kot sir to you.... Booz of yvou only | m able to solbe puzzle,. really ur teaching way is very amazing....



Monilka Emmari 1 day ago 1 subserbars

VoW u T 3- _ shikha katiyar 1 day aoc
23247232210 3 Home wwork

W25
iy &F  REPLY =

W-ZFd
+ 1 REPLY U -ZZ .

FRead miorne
Twvinkdr Gupta 1 day ago

. i S = REFLY

—r O] T
Ans s, Opt. 1 {2

L1

P —— -~ 1 REPLY

1 REPLY i
N Fxomipriya das 7 day =2gc
Weuts

Muskan Rai 1 d=v mgc

ar

Tamisha p 7 d=y =gc

Thank ywouw sir 0 0
Rimpa Das 1 day apo 14 sukscrikb=rs Waonderful session
Wo=25, w=24 u=22 t=10, 5=5 HW —— =W = =T =5

& G 2524523 27 10.5
REFLY =

+ 1 REPLY 't L FHEF LY -

ar

iy &P  REPLY
* 1 REPLY




Alphabetical Series

Chinese Coding — Decoding
Inequality

Blood Relation

Syllogism

Distance & Direction

Box Based Puzzle

Month based Puzzle

Square Based Sitting ( 2 Question )



S Boys- S, T, U, V and W; each have different number of Box. W has less boxes than only V. T
has 10 Boxes. U has 17 boxes more than S who has 5 boxes. V has 25 boxes.
57SH S, T, U, V TR W; Tedieh o TTH TeNT-TeT T T&AT H d19 4 3

W & UT® ShaeT V & W a1 8| T o T 10 ST 2| U & I, S § 17 St 3tferes 8, forees e
5 SiTer 81 V o UTH 25 STe )

Q. U have more boxes than  persons?
UShUE _ Sghdl O STTereh ST 82

(1) 2

2)1

)4

4)3

(5) Cannot be determined



Q. Study the given information carefully and answer the given questions.

S Boys- S, T, U, V and W; each have different number of Box. W has less boxes than only V.
T has 10 Boxes. U has 17 boxes more than S who has 5 boxes. V has 25 boxes.

5TSH S, T, U, V 3R W; Teleh & UTH 3TeITT-3Te T HEAT H 91 2l

W & UTH ol V & HH ST 81 T o OT 10 1o 81 U & UTe, S ¥ 17 St 31teres 3, frass ur
5 ST 81 V ok U1 25 STaT &)

Q.How many boxes W have?
W % e fera aifer &2

(1) 23

(2) 24

R)PAY

(4) 23/24

(5) 38



6SUOILIK@J3D#FS5S2XNZ&PY%R48EGAO*QW

If all the symbols and the numbers in the above arrangement are dropped, which of the
following will be the tenth from the left end?

Ife Iuh saer ¥ Tt Udient 3T dare &l ger farwarg A i A o S e e s a
ST ENI?

1) Y
(2) N
3) P
4) Z
(5) None of these



6SUOILIK@J3D#FS2XNZ&PY % R48EGAO*QW

How many such symbols are there in the above arrangement each of which is immediately

preceded by a number and immediately followed by a letter?

I SATEAT W Y feRa Tefteh & R & Teieh o T8 Uge! Ueh HEAT 3T I8 a1 Ueh e 77

(1) None

(2) One

3) Two

(4) Three

(5) More than three



6SUOILIK@J3D#FS2XNZ&PY % R48EGAO*QW

How many such consonants are there in the above arrangement each of which is immediately

followed by a symbol but not immediately preceded by a number?

IURIH SHaET § U8 fohee 5w & I8 & Uik o UshaW aITE Uk Uelteh feheq UeheH Uget U
HEIT L &2

(1) None

(2) One

(3) Two

(4) Three

(5) More than three



6SUOILIK@J3D#FS2XNZ&PY % R48EGAO*QW

Which of the following is the sixth to the right of the seventeenth from the right
end of the above arrangement?
SURIH STTEYT H (H § 9 HiA-A1 31 BR ¥ TAE o T BT 87

1) %

2) Y

3 D

4 3

(5) None of these



6SUOILIK@J3ID#FS52XNZ&PY % R48EGAO*QW

Which of the following is the fifth to the left of the sixth to the left of Z in

the above arrangement?
SUNIR SATEAT W T | U i Z 6 91 TS oh dA1F 1T 82
(1) L
2) 1
3) Q
4 K
(5) None of these



®

Conclusions (I) 22 > 19 () 22 <11

Statements —

1)20>11>6>4<22<19
2)20>11>6=22>2=19
3)20>11>6>22<19>2
4)20<11>6>22>19>2
(5)20>11<6>22<19>2



Conclusions- (1) 5>4 (I1) 3> 4

Statements -

(1)11<3>5<25>4
(2)11<3>5>25>4
(3)11<3>5>25<4

(4)11<3<5>25>4
(5)11<3>5<25>4



|
Conclusions -(I) 23> 12 arn 21 <15

Statements —

1)23>22>12<15>3=21
2)23<22>12>15>3>21
3)23<22>12>15>3>21
4)23>22>12>15>3>21
(5)23>22<12<15<3>21



Conclusions - (1) 10 > 4 (1l) 20 = 19
Statements -
(1)4<9<10>20=7=19
(2)4<9<10>20=7>19
(3)4<9<10>20=7>19
(4)4>9<10>20=7=19

5)4<9>10<20=7=19



Conclusions-(I) 13 > 9 (II) 26 > 13

Statements -

1)26>1>13>14>18>9
(2)26>1<13>14>18=9
3)26>1>13>14>18>9
4)26>1>13>14<18>9

(5)26>1>13>14<18>9



Anandi walks 24 m east from point A and reaches point B. From point B she takes left turn
and walks 8 m and then she takes right turn and walked 12 m and again she takes right turn
and walks 14 m and again takes right turn and reaches point M. Then in which direction he is
facing now ?

AT feig A & 24 Hiex 08l wrerdt § iR foig B ek ugerdt 3| foig B & o8 oT¢ Aig odl & 2K 8
Hiex TetaT & 2R {8 o /g AT & 3 12 Hie et 2 3R i a2 e /ig et 2 3R 14
e srereft ¥ afte fom ar wivg ool ¥ afte fitg M e gt 3
(1) North
(2) South
(3) East
(4) West
(5) None of these



Sunil is son of Keshav, Keshav’s only sister Simran has a son Maruti
and a daughter Sita. Prem is maternal uncle of maruti. How is Sunil
related to Prem?

AT RIS T U B, IS hl THATH TE (AT 6T T HIGHA TR qeT
HAT 31 W ATG T /IHT g1 AT JIH A hH da i g2

(A) Niece / FTSIT/9TaTST (B) Nephew / ST{STT/STe AT
(C) Uncle / 3T (D) Aunt / 3Tiet



Statements:

All watch are hand.
All hand are finger.
Some finger are mind.
All mind are wall.

Conclusions:

I. Some finger are watch.

I1. No finger is watch.

<h 2

a4t T, Ty 3

|t g1y, et 2

Fo e, femm
T foumT, Sar 2
feny:

L. &S AT, T 3

I1. TT3 3T, TSt 7 o



Statements:

All watch are hand.
All hand are finger.
Some finger are mind.
All mind are wall.
Conclusions:

I. Some finger are watch.

I1. No finger is watch.



Statements: FHUT:

All watch are hand. ot g m%l
r g
All hand are finger. Tt 2T 3:I1Tc_'ﬁ'%l
> T
Some finger are mind. . .
% 3T, femm ¥

All mind are wall. .
S Tt faumT, far @
onclusions:
IELEAF

I. &% FAR, AT 2
I1. Some wall being finger is a > > T

possibility. IL. &% HE LD 341\1T'ﬁ' &I <Al Uch
HHTIAT 2

I. Some wall are finger.



Statements:

All watch are hand.

All hand are finger.
Some finger are mind.
All mind are wall.
Conclusions:

I. Some wall are finger.

I1. Some wall being finger is a
possibility.



Statements:

No tree is root.

No first is root.

Some winner are root.
All first are last.
Conclusions:

I. Some last are first.

I1I. Some tree are not root and
winner.

I1. S Ug, TS 3R forsrar 71 2



Statements:

No tree is root.

No first is root.

Some winner are root.
All first are last.
Conclusions:

I. Some last are first.

I1. Some tree are not root and
winner.



Statements: HU:

No tree is root. aﬁ?a's', Trrs'qg"r%q

No first is root. &g Ugel, TS &l ¢l

Some winner are root. i’m%@ﬁ'ﬂ SER]

All first are last. T+t U, STRaRT 2

Conclusions: B E

I. Some last being winner and L. %% TR < ferran 3ﬁ-{‘_’rg qeh 8T
root together is a possibility. & AT T HTEHT 2]

I1. Some first are not tree. I1. % qee, ﬁ's'T-lg'T%l



Statements:

No tree is root.

No first is root.

Some winner are root.
All first are last.
Conclusions:

I. Some last being winner and
root together is a possibility.

I1. Some first are not tree.



Statements:
Some mango are guava.
All guava are papaya.

Some banana are mango, guava
and papaya.

Some lemon are banana.
Conclusions:
I. Some papaya are not lemon.

I1. Some lemon being mango,
papaya, guava and banana
together is a possibility.

hd:

FT I, 3THES 2

QT THEE, Tt B

S hHel, AT, FAES SR TUaT 2|
%D I, HAT 2l

freeR:

I. %S qdtar, Fie & 8\

I1. TS Hid o AT, T, JTHES AR
SHelT Ueh TTY B <hT Ueh GHTAAT B




Statements:
Some mango are guava.
All guava are papaya.

Some banana are mango, guava
and papaya.

Some lemon are banana.
Conclusions:
I. Some papaya are not lemon.

I1. Some lemon being mango,
papaya, guava and banana
together is a possibility.



Road , Medrid ,BASANT ,jOY is written as 8#D , 10%D , 265T , 28@Y
Jim, Right, Bull , Maa is written as 25#T, 4%A , 165L ,16@M

Resume, Joshi, Bit, Manager is written as 11#E , 25%R , 238T , 14@I

What is code for “MARKET?” & feT0 G@HTeAq hig =T SRTT?
(1) 26%T

(2) 26#T

3) 25%T

4) 26%M

(5) 20%T



Road , Medrid ,BASANT ,jOY is written as 8#D , 10%D , 26T , 28@Y
Jim, Right, Bull , Maa is written as 25#T, 4%A , 16SL ,16(@@M

Resume, Joshi, Bit, Manager is written as 11#E , 25%R , 238T , 14@I

What is code for “BITTU” o feT0 G Shig AT T2
(1) 26%T

(2) 268U

3) 25%U

4) 26%U

(5) 20%T



Eight people A, B,C,D,E,F,Gand H S &NTA, B, C,D,E, F, G 37X H Ueh
are sitting around a square table. Four TMHT T oh T 3T A3 Tl 3I7H A IR

of them are sitting at the corners T8 <hl AR é%gqaﬁq‘rma%% AR I AR
facing outside and the remaining four I h ﬁr—nﬁmé%gq IR IASEI H,Ch
are sitting at the sides of the table EIT({'@‘%\'HT[@B‘CIT%I G, H o 19 § drE
facing inside sitting in the. H sits S3at 2l E, G éaan%aﬁ'{ WW%' E,B
second to the left of C. G sits third to o =T 3T QEC\HTTQ'B?IT%, AT ATCTeRT ok He
the right of H. E sits second to the left T W ® Uek U 43T 21 B, E T dcchleA

of G. A sits second from the left of E. tl?ﬁ'ﬂﬁ‘:@‘%l D, F éaavs“aﬁ'{ EC\'HTT%I

B sits at one of the middle sides of the

table. B is not an immediate neighbour

of E. D sits second to the left of F.




Eight people A, B, C, D, E, F, G and
H are sitting around a square table.
Four of them are sitting at the corners
facing outside and the remaining four
are sitting at the sides of the table
facing inside sitting in the. H sits
second to the left of C. G sits third to
the right of H. E sits second to the left
of G. A sits second from the left of E.
B sits at one of the middle sides of the
table. B is not an immediate
neighbour of E. D sits second to the
left of F.



Eight persons are sitting around a square TS STF TR 0 3 I aﬁ'{é%%n
table. Four persons are sitting at middle of . .
N ffh . “g o TR safeh it ohY YrTail o Heg s
e sides of the square and all are facing ) .

IR AT 37T 6T 3T I Bl N9 IR
at corners and they face outside. T tl'{a%% SHEE] &Y <t 3'0' S %l
Two persons are sitting between P and U. R P3ARU %saﬁ%ra‘raqﬁsé%%l R, Tt P
who is an immediate neighbor of P, sits amﬁmwueﬁ'{ﬁ%, S o [audia ST 2
opposite to S. T sits 3rd to the right of V. W T, V o & & TR TATT W AST 21 W,
sits immediate right of T. Q faces W. U T %WE@'@B‘I‘%IQ, W i 3ﬁ-{3:|\;|9-@-
faces outside. %I U 9T Eﬁ‘m%l

9

towards inside. Remaining four are sitting



Eight persons are sitting around a
square table. Four persons are sitting
at middle of the sides of the square and
all are facing towards inside.
Remaining four are sitting at corners
and they face outside.

Two persons are sitting between P and
U. R who is an immediate neighbor of
P, sits opposite to S. T sits 3rd to the
right of V. W sits immediate right of T.
Q faces W. U faces outside.



Nine personsi.e. P, Q, R, S, T, U, V, W, X
were born on different months i.e. January,
March, April, May, July, August,
September, October, November but not
necessarily in same order.

Four persons were born between P and T.
P was born before T. Q was born in the
month of 30 days after July. T was born
after Q and before R. There were as many
persons born before X as after R. one
person was born between U and V. S was
born before U and after W.

it St AU : P, Q, R, S, T, U, V, W, X
FTET-STETT WEHT 37U : ST, A,
U, W3, TATS, T, e, oo,

T | T+H d B AT SIELT A81 THT shi
&

PARTHF AT IR ARE TH A2 P, T
| UgA W T 81 Q, TATS o a1g 30 fam
T T H -0 eat 21 T, Q & 18 AR R
¥ Uget 71 ol 81 X o Uger fSTa saf<h
IH Ad 2 R & 912 3a+ &1 4 {h o+ oI 2l
USSRV KA HUTH ARG T edTal S, U
o UEA I W o TS W/ oidT 2



Nine personsi.e. P, Q, R, S, T, U, V, W, X
were born on different months i.e. January,
March, April, May, July, August,
September, October, November but not
necessarily in same order.

Four persons were born between P and T.
P was born before T. Q was born in the
month of 30 days after July. T was born
after Q and before R. There were as many
persons born before X as after R. one

person was born between U and V. S was
born before U and after W.



There are eleven boxes placed one above the
other. Five boxes are placed between F and T. Not
more than five boxes are kept above T. Two boxes
are kept between T and M. Three boxes are kept
between M and S and M is kept at one of the
positions above S. There are only three boxes kept
above the box J. One box is kept between R and S.
Two boxes are kept between R and H. Box D is
kept at one of the positions below box K and at
one of the positions above box C which is not
above R. Box E is kept immediately above K. Box
H is above R but not on top .

TE T2od Teh o HUT 3177 [T gAT 2| F AR
T W Uil fTsd W@ & Th FTW U= A
freh T T @ EI TIRM B fmra
T @I MRS F e adia e @
IR M, S & FHUX FRET Teh TATT WX W B
fe=ar J o U Rt 19 fes W B R 3R
SHrH U ST WaT 8l RAR H s W
ar fesar v B fEsat D, fesat K & = foredt
Teh TATH U @ ¢ AR fgear C & R foher
Teh FAT U TE&T & WY R & 0% & 31 e
E, K % Sieh FWR T@T 8| Sl H, RA FW B
AR 3 U 7 B



There are eleven boxes placed one above the
other. Five boxes are placed between F and
T. Not more than five boxes are kept above
T. Two boxes are kept between T and M.
Three boxes are kept between M and S and
M is kept at one of the positions above S.
There are only three boxes kept above the
box J. One box is kept between R and S.
Two boxes are kept between R and H. Box
D is kept at one of the positions below box K
and at one of the positions above box C
which is not above R. Box E is kept
immediately above K. Box H is above R but

not on top .



